Installation Instructions

Latchways Loop Tether Line
Tethering solution for ManSafe® Sealed SRL

Manufactured by
Latchways plc
Hopton Park
Devizes
Wiltshire
SN10 2JP

Tel: +44 (0)1380 732 700
Fax: +44 (0)1380 732 701
Email: info@latchways.com
Web: www.latchways.com

Copyright © 2015 Latchways plc, UK
No part of this manual may be reproduced or transmitted in any form or by any
means, electronic or mechanical, including photocopying, recording or any
information storage or retrieval system, without prior permission in writing from
Latchways.

Document No.: 62894-99 DAR No.: N/A
Approved: Andrew Pass

| Issue: 5 Issue Date: 26.10.15
Sheet 1 of 8

© Copyright 2015 Latchways plc

No part of this document may be reproduced or transmitted in any form or by any means,

&
without prior permission in writing from Latchways plc. LATCMWAYS

L PROTECTION


mailto:info@latchways.com
http://www.latchways.com/

Installation Instructions

O

Please note that the Tether Line is an aid to retrieve the SRL’s user attachment point and does not form part
of the fall arrest system — If in doubt, when installing or using the system, please contact Latchways plc.

e Ensure all tools are present before carrying out the installation

1 x 9 mm Spanner

1 x 10 mm Spanner/Wrench
2 x 17 mm Spanner/Wrench
1 x 3 mm Hex Allen key

1 x5 mm Hex Allen key

1 x 6 mm Hex Allen key

1 x Knife & Electrical tape

1 x Hot Knife

1 x Pliers

0O O O 0O 0 OO0 O O

e Ensure all tether line components are present (as supplied by Latchways)

o 1 xUpper Pulley assembly, assembly shall include:
= 1 xTether line pulley
= 2 xTether line brackets w/ rubber pads (one bracket is threaded)
= 2 x M6 bolts
= 2 x M6 Nyloc nuts
= 2 x Anti-loss washers
o 1 xLower Pulley assembly, assembly shall include:
= 1 xTether line pulley
= 2 xTether line brackets w/ rubber pads (one bracket supports the pulley)
= 2 xM10 bolts
= 2xM10 nuts
= 4 xM10 washers
= 2 xM10 spring washers
= 1xMS8 bolt
= 1xM8nut
= 2 x M8 washers
= 1 x M8 spring washer
1 x 15 m/25 m Polyester rope tether line, terminated at one end with an eyelet
1 x Stainless Steel Swivel Shackle
2 x Cable ties
1 x Extension wire, which includes
=  Stainless steel wire weak link, with 2 x D-shackles
=  Stainless steel maillon rapide
o 1xTether line clamp w/ clamping bolt

O O O O

Document No.: 62894-99 DAR No.: N/A | Issue: 5 Issue Date: 26.10.15
Approved: Andrew Pass Sheet 2 of 8

© Copyright 2015 Latchways plc

No part of this document may be reproduced or transmitted in any form or by any means, @ T Y
without prior permission in writing from Latchways plc. .—A c!:.l_moATEs ) §



Installation Instructions

O

1. Attaching the pulley assemblies to the access ladder of the wind turbine

Please note that there are 2 different pulley assembly brackets and they MUST be fitted in the

correct location on the ladder (see below for correct type)

a. Attach the Upper pulley assembly to the centre of the uppermost rung, ensuring that the
pulley is hanging below the highest rung.
b. Using the 5mm Allen (hex) key — ensure both M6 bolts are tightened up evenly, to give an
even contact onto the rung. (Note — one side of the pulley bracket is threaded, which shall

be located at the back of the ladder).

c. When firmly secured, fasten M6 Nyloc’s to M6 bolt threads and using a 5mm Allen (hex) key
and 10mm Spanner, fully tighten and lock sufficiently — ensure assembly is rigidly fixed.

d. Attach the Lower pulley assembly to the centre of the nearest rung that is 2 metres above
Lowest Astronomical Tide (L.A.T.) for boat landing ladders and on the bottom rung for upper
ladders. Using 2 x 17 mm spanners tighten fully and ensure that the assembly is rigidly fixed.
The pulley must point upwards with the chosen rung below it.

e. Make sure both blue pulley buttons are in the ‘locked’ position to ensure the pulleys do not
rotate (as pictured below).

Upper pulley assembly

Lower pulley assembly

Document No.: 62894-99 DAR No.: N/A | Issue: 5 Issue Date: 26.10.15

Approved: Andrew Pass Sheet 3 of 8
© Copyright 2015 Latchways plc
No part of this document may be reproduced or transmitted in any form or by any means, @ T Y
without prior permission in writing from Latchways plc. LA c!:!mﬁ cF §



Installation Instructions

2. Feeding the rope tether line onto the pulleys

a. Ensure entire length of tether line supplied is free front knots and tangling before installing
Feed the ‘non-eyelet’ end of the tether line through the top pulley from front to back

Pull the tether line down and pass the ‘non-eyelet’ end through the bottom pulley from back
to front.

Document No.: 62894-99 DAR No.: N/A | Issue: 5 Issue Date: 26.10.15
Approved: Andrew Pass Sheet 4 of 8

© Copyright 2015 Latchways plc

No part of this document may be reproduced or transmitted in any form or by any means, @

without prior permission in writing from Latchways plc. I—ATCHWAYS

PROTECTION



Installation Instructions
O

3. Connecting the stainless steel swivel shackle

a. Attach the stainless steel swivel shackle into the eyelet terminated end of the rope tether
line.

b. Using a 3mm Allen (hex) key — ensure that the bolt of the swivel shackle is fully tightened.
Feed the ‘non-eyelet’ end of the tether line, through the tether line clamp and then through
the other ‘D’ shape of the swivel shackle.

Then pass it back through the tether line clamp and pull the slack through.
Push the tether line clamp as close to the eyelet as possible.

f.  Pull the tether line hand tight, removing any slack from the system — ensure that the tether
line freely moves up and down.

g. Tighten the tether line clamp bolt using a 6 mm Hex Allen key.

SRR R S

i
!
,%

Document No.: 62894-99 DAR No.: N/A | Issue: 5 Issue Date: 26.10.15
Approved: Andrew Pass Sheet 5 of 8

© Copyright 2015 Latchways plc

No part of this document may be reproduced or transmitted in any form or by any means, @ T
without prior permission in writing from Latchways plc. LA CMWA o s

L PROTECTION



Installation Instructions

4. Terminating the tether line

a.

device, leaving approximately 100mm.

Cut off the excess end of the tether line using a hot knife, or other suitable rope sealing

Another method, is to tightly bind the rope tether line with electrical tape at the

point of the cut. Cut the rope with a sharp knife through the tape. Heat seal ends

and then remove the tape.

b. Secure to the main tether line using 2 cable ties

[oN

Cut off the excess cable tie using pliers, cutting cleanly to avoid any sharp edges.

Document No.: 62894-99

DAR No.: N/A

| Issue: 5

Issue Date: 26.10.15
Approved: Andrew Pass Sheet 6 of 8
© Copyright 2015 Latchways plc
No part of this document may be reproduced or transmitted in any form or by any means, @ -r Y
without prior permission in writing from Latchways plc. LA c mw& o §



Installation Instructions

5. Connecting the extension line

a. Attach one end of the extension line to the tether line using the maillon rapide
Tighten the maillon rapide with the 9 mm spanner
Connect the other end of the extension line to the SRL via the sacrificial (weak) wire link and
D-shackle, into the rotating arm, located above the user attachment point.

d. Tighten the D-shackle with a 3 mm Allen key.

Test full system, ensuring it freely runs up and down the full length of the ladder as required.

The Tether Line system is not designed to retract back on its own and will require guidance when
returning the cable back into the SRL housing after use.

Document No.: 62894-99 DAR No.: N/A | Issue: 5 Issue Date: 26.10.15
Approved: Andrew Pass Sheet 7 of 8

© Copyright 2015 Latchways plc

No part of this document may be reproduced or transmitted in any form or by any means, @ T
without prior permission in writing from Latchways plc. LA CMWA o s

L PROTECTION



Installation Instructions

DO NOT SCALE | [CT] - CRITICAL CHARACTERISTIC DIM. MUST BE

MAINTAINED WITHIN STATED TOLERANCES _ IF IN DOUBT, ASK

CHANGES

1 [ DAR3548 18.05.11

DRAWING PRODUCED.
DML

Z[0AR3S48 _ 2anall

ITEM % WaAS 00402-73,
DN,

3] DAR392EmC_22.05.12

Issue Date: 26.10.15

Sheet 8 of 8

| Issue: 5

DAR No.: N/A

=N
.|..|.|_/rﬂ.\.. ITEM 15 ADDED. ML
- 4] DaR4D20 200712
[TENS 2, 3, 5, 911 AND
I3 MOVED TO PULLEY
ASSY DRAWING £2908-00.
H.J,
- S| DAR4457 _ ealnie
5 BOTTOM BRACKET
N \ REPLACED WITH ITEM 10
\ GE
- & [DAR4490nc  02,08.3
o CHANLE GQUANTITY OF ITEM
9 FROM 2 TO 1
G.E.
7] DAR4564 011043
. [TEN 7 CHANGED FROM
N £2899-17 10 62894-00K2,
AN T.M.
Y
/
Fann W
ey
| =
S
ITEM| DESCRIPTION QTY|NUMBER/REMARKS
L |SRL TETHER-LINE CLAMP 1 |62899-01
2 |15m SEL TETHER-LINE ROPE ¢32,0m LG 1 |62894-01R
3 |S/8 MIO X 20 BUTTON HD A4/70 1 |00403-18
4 | SEL TETHER-LINE INSTRUCTION MANUAL <ROFPE> 1 |62899-98
9 | SEL TETHERLINE STAINLESS STEEL SHACKLE 1 |62899-18
6 |SEL TETHERLINE EXT. CABLE ASSY 1 |62899-15
7 | WIRE WEAK LINK ASSEMBLY @ 1 |62894-00K2
8 |6mm JAW EYE SWIVEL 1 |62B99-24
9 | LADDER MOUNTED @735 PULLEY ASSY ®| 1 |62908-00
10 | LARGER BRACKET PULLEY ASSEMBLY 1 |62918-00 DRAWING SHEET A3
MATL UNLESS OTHERWISE STATED: SCALE NTS [TITLE DRG NO. SHT 1
B DIMENSIONS ARE N MILLMETRES 15m SRL TETHERLINE ROPE ASSEMBLY 7 62894—00R _;
DRAWN TO
W e 2o o 605 [ . [ s i ATCHWAYS
ALL HOLES & SLOTS +0.5 —0,0 DATE 05, DATE DATE
FINISH SURFACES 3,2 z_omo:ﬂnmm\%m:ué @ o1 -
BREAK mI.PD_U.‘ EDCES 0.5 RAD S CHAMF This drawing is protected by Copyright and the inforrmaticn herein is FALL FROTECTION
- 9 MAX \ confidential. The drowing may not be copied ond ihe information contoined [ Lotchwoys plc, Hopton Park, Devizes.
TOLERANCING 1S0 8015 herein may not be _._uom of disclosed except with the written permission Wiltshire ENIO 2JP
BS SPECIFICATIONS TO LATEST ISSUE. of and in the manner permitted by the proprietors, Latchways plc. TEL: +44 C021380 732700 FAX +44 (01380 732701

Document No.: 62894-99
Approved: Andrew Pass

© Copyright 2015 Latchways plc

FALL PROTECTION

L@ATC HWAYS

No part of this document may be reproduced or transmitted in any form or by any means,

without prior permission in writing from Latchways plc.



